Chittaranjan Locomotive works

feradom depmfea aai
IGGLEE!
(EEED)
Selection of Group C category in Level -02 of pay Matrix under RS (RP) Rules on compassionate
ground.

SFIHUT & HIUR TR HRGY (R Pt & aga o Afeaw & dae -02 # gu At 9oft &1 777

Total Marks : 100 Time: 2 hrs and 30 minutes Da'ted:10.02.2022
All questions carry equal marks i.e. 1 mﬁmﬁ%mm%mﬁa 1)
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1. Who among the following played the leading lady in the film 'Mission Mangal' that tells the
dramatic true story of the women behind India's first mission to Mars?
A . Kareena Kapoor B. Deepika Padukone C.Kajol D. Vidya Balan

Fraffed A e e e direr &y afgen #1 yftre P S aardt 2
WE 98 W YR & Ugd e & S afkenstt & aealy w=h st
A. M PR B. MUDT UrgHIvT

c. PN p. fasnm sem

2. Select the correct synonym of ‘Obligatory ‘from the given words:
f&U T 32 # | ‘Obligatory’ 1 UE vafgard 3reg gFATI
A. Mandatory B. Reckless

C. Useless D. Aggressive

3. How many permanent members in the UN Security Council? mgaa

Ay e uie § fFad _rft wew §-
{n) 5 (B) 6
{C) 15 (D) 20

4. Indian Women’s Hockey Team won which position in the Asia Cup

20222 YR Afgar gie! a9 3 TR™T$Y 2022 F &1 91 -FE Sidie

[A] First [B] Second

[C] Third [D] Fourth

5. As of 2022, which country is the top Steel Producer in the world? 2022 d fay &1
i ST JTEH TN PH T2 2

[A]india [B]China

[CIUSA [D] Australia

6. Which North-Eastern state recently inaugurated a dedicated ‘Technology Park’ for
IT sector? 11 81 H foby Gafer o 3 31$E & & o ueb it et urd &7
Jgured faar,

[AJAssam  [B]Meghalaya

[CIManipur .[D] Mizoram

7. Quito, which was hit by a massive landslide, is the capital city of which country? f@el,
Sl 98 T R 2ge 3 TIfad gon o, b 39 Y e 2

[A] Ecuador [B] Peru

[C] Chile [D] Argentina
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8. Which institution releases the ‘India Press Freedom Report 20217
[AINITI Aayog

[B]Informationand Broadcasting Ministry

[C] Rights and Risks Analysis Group (RRAG)

[D] Amnesty International

B U1 SR 3 i e R 2021 o w87

Q) AR s

tgl LGl emmm AT

(4h SfeR onfaw fawer AT
3 TR geeE e ’

9. Wh?ch Gupta emperor was an expert Veena player?
[A] Sri Gupta [B] Samudragupta

[C] Chandragupta [D] Kumargupta |

P U1 W GHIE Uah AR dion arga U

Qo T (dh W

S uyH (3] PUARTE TYH

10. Which among the rulers of Magadh founded the city of patliputra (Patna) on the

bank of river Ganges?
[A] Chandragupta Maurya[B] Ajatshatru

[C] Bimbisara [D] Bindusara
ma?%aw%ﬁmqﬁ%azmwmamwﬁwaﬁ ik
Q) g A (&) ety
SIS g fdgar
11. Which of the following assumed the title of ‘Siladitya’?
[A] Harsha Vardhan [B] Rajya Vardhana
[C] Prabhakar Vardhana [D] None of the above
e & @ frea Renfee &1 STl yrRo &1
(T gYaeH (dh I9 I

) gHeR aF 3 IWed § ¥ P el

12. Lord William Bentinck is credited for which of the following in the Indian History ?

[A] Education reforms [B] Laws

[C] Abolition of sati [D] Local government

& Rt Afe 31 yRdH sfiera & Pufifed 3 Q fred forg g far s &2
Q) fRam gur (st B

@ T B IR (S WFHE WPR
13. Muslin is a type of cotton textile which had its origin in which of the following states?

[A] Bengal [B] Bihar
[C] Orrisa  [D] Uttar Pradesh

m@mmwm%mﬁmmﬁﬁmmﬁgﬁw

(9] §md (sl
Rﬂ] m [:‘ﬁ] IR U™
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14. When did Kheda Satyagraha took pl HUUe
[A] 1915 [B] 1916 PR o ot
[C11917  [D] 1918

15. Where did Netaji Subhash Chandra Bose established provisional Government of
Free India ?

[A] Singapore [B] Rangoon
[C] Malaysia [D] Germany

YISt GUTY <% A1 A Wl WIRa Y afFAfera v @t e del @1 Al
@ RmgE @ ¥

) waRkmr  (dh o

16. Jayamkondam in Tamil Nadu is famous for which among the following minerals?

[A] Bauxite [B] Lignite
[C] Calcite  [D] Magnesite

AftreTg & s isd Fafafad # ¥ few efe & fag ufte 8
(U] Siegge (4 femge
@ Pase (1) AR

17. Which of the following is the correct order of the cities from West to East?

[A] Ranchi-Alwar-Bhagalpur-Gorakhpur
[B] Gorakhpur-Bhagalpur-Ranchi-Alwar
[C] Alwar-Gorakhpur-Ranchi-Bhagalpur
[D] Bhagalpur-Ranchi-Alwar-Gorakhpur

Praffaa & @ 1 3 7d 1 3R e &1 9 HH B AR
[Q) - SferaR - HRTAR-TTRER
[l TREQR-HITAQR- - 3R
() SreeR-TIREYR- - HRTAQR

18. Sirhind Canal is located on which river?

[A] Sutlej [B] Ravi
[C] Beas [D] None of the above

Wﬁmﬁgﬂfgév
(€] 9dgs (dl)
) s & SR & ¥ B EH

armed force operation named “Operation Meghdoot” was associated

19. The Indian ‘ ] £
with the capture of which of the following Indian glaciers?
[B] Satopanth glacier

[A] Sonapani Glgcier A
[C]vSiachin Glacier [D] Zemu Glacier -

2 v TP HRATG IR 94 BT
R peoll I I I3T U1? :
@) SAE SRR () ggq’l TR

<, RfA AR &



20. Bitarkanjj ;
a ; ;
[A] Gujarat Mangr ?\;(e forest ig located in which of the following states of India?
Odisha arnataka

ndhra Pradesh
(T m%wm*mﬁm;mﬁ@a%?

() Ffes
Rﬂ] Gﬂ%'qn [qu] mm

21. What the mini
mum age for ' i Lok Sabha?
[A] 18 years [B] 20 yearg a person seeking election to the

[€] 25 years [D] 35 years

(¥ 18 9@ @ 20 i
(W 25 W (3 35 gy

22. Who appoints the Chief Minister?

[A] The Chief Justice of High Co '
C] Prime Minister : £ (D] Governer

i 35;;133‘&”% . [D] Governor
] IRUUCRIC g o Tyafa

(¥ vy E?T]] T

23. Which state/UT is set to host the 25th National Youth Festival in 20227
[A] Maharashtra [B] Puducherry

[C1Goa [D] Assam
ﬁ?mm/%‘mﬁmmzozz H 259 0t g wwa At 3 3 g JaR D
[T] HERIy (d g

(¥ i (S erRm
24. In which country, the first Asian Games was held?
[A] Indonesia [B] India
[C] China [D] Philippines
el TR &t f 321 o ey Y12

Q] SSHfRm (d yRq

(3 = (St fethite

25. What is Vijender Singh famous for?

[A] As an Indian boxer [B] As an Indian wrestler

[C] As an Indian cricketer [D] As an Indian footballer
9

[ & YR qabe ¥ ®q & (@ @ YRy TgeEE ¥ wy
(€ @ YR e F wq A B @ YRl eater & w3

26. Hemoglobin in humans has the highest affinity for which of the following gases?
[A] Methane [B] Carbon Mon_oxide
[C] Nitrous oxide  [D] Carbon dioxide .

' 'W@ﬁqwﬁyﬁﬁﬁmﬂa%mmw%

(q) #Heg (@ P Iﬁ=h&g“a“ﬂrsg
([l A5eY sidgs  (Sh BEA SReTRES
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27. Which among the following plants is used as Green Manure?

[A] Wheat
CETA L

A 5y 11 &1 It g8 @rg & wq A fan o 87
(T g () W

() su™ (¥ a9 e

28. Which among the following cell organelles is essential for Cellular respir
[A] Er)doplasmic Reticulum[B] Golgi Body
C] Mltochopdrion [D] Lysosomes
Rad & A ¥ W Rt SRt s & forg savad 87
Q) e Wegpan () Maft &gt

(W AT IR
29. Who was the first scientist to discover Electrons?

[A] Albert Einstein [B] Isaac Newton
[C] J.C. Bose [D] J.J Thompson

sﬁm@ﬁmwwmﬁam
Q) S (Wl P ed
& SR 99 (S & 9 4fggq

ation?

30. What can be the maximum strength of Rajya Sabha?

[A] 245 [B] 250

[C] 255 [D] 260

RSTHHT B BT e faat gl Tl 872

(€] 245 (dfl] 250

(¥ 255 [S1] 260

31. For how much time a person who is not a member of either House of Parliament
can also be appointed as a minister?

[A] 2 months [B] 3 months
[C] 6 months [D] 9 months

S St Te 3 Rt ot e &1 e e §, 39 fva wwa & ferg w1 & w9 A fge
faar o 9@ 2

@ 2 7§ (& 3 HeH

@ 6 W (SN 9 el

32. Which among the following temperature scale is based upon absolute zero?

[A] Celsius [B] Fahrenheit
[C] Kelvin [D] Rankine

RufifRd 3 ¥ B\ 91 ITIHH THET WA T R R 82
7) AfRmw  (d) BRAgEe
@ dfem S WA

33. Ohm is a unit of measuring

[A] Resistance [B] Voltage
[C] Current [D] None of the above

3w HIGA B 0@ 3DTS 07
Q] Wiy @) des
) s S SWE d § IR T
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34. The Newton's third law is applicable when:

[A] bodies are at rest (B] bodies are in motion 45
[C] bodies are in the air  [D] bodies are at rest or in MOtIO
YA &1 R A aa g gan 8 o

ufa # ¢
Q) TR Rm w § () g P

W s g A (& v omm AW

35. Which of the following is equal to the upthrust of the body?
[B] weight of liquid

[A] mass of body .
C] weight of liquid displaced [D] density of liquid
A AN IR & I & auaT g7

(d) aw@ 1 g9

(U] IR &1 goqqF
I R ave &1 aoH (&Y W@ ®1 Iid

36. What is supersonic speed?
[A] When the speed of any object exceeds the speed of sound

[B] When the speed of any object exceeds the speed of light
[C] When the speed of any object exceeds 10000 m/s

[D] None of the above

OIS T 1 8?
T 99 e ag B Y @l oy § fte & ot @

@) o9 et ag @ Y v @ afy § ofte @ 9l €
[c) 9§ fFdt ag B TG 10000 m/s . Y 3B & A ¥

(8] W& 4 ¥ Hg 78l

37. As per ICMR, which vaccine is found to be effective in neutralizing double mutant
strain of SARS-CoV-2?

[A] Sputnik V [B] Covishield

[C] Covaxin [D] Oxford Astra Zeneca J

ICMR %;a'\w, SARS-CoV-2 ¥ dIeX SRadl aTd BT F3RR X H P 1 w1 THTdl
RICIRIC

(T gae df (¥ difdsfie
() Pafea  (Sh Sifeamis T SH®T

38. Which of these compounds is also known as wood spirit?

[A] Ethanol [B] Methanol
[C] Propanol [D] None of the above

70 o At 31 g RUTe B A1+ ST ST &7

(T g (& A
[ W (3 SRad H I S gl

39. Which of the following is an example of a Thermosetting plastic?
A] Melamine [B] Bakelite

[C] Formaldehyde resin  [D] Teflon

fAafafad & 9§ o1 yaRicT wifed o1 3R 8?

(Y] AR (@) dPpare

(b wi@sEs a8 <

40. Which of the following metals can easily be cut with a knife?

[A] Sodium [B] Manganese
[C] Zinc [D] Tin



S,

Fraffee 4 3 g ug )
Ry W [;.ft‘?! AP Y RN Y Prer o Gl 87

) Riw @ Ry

41. Which of the followin as i hing gas?
[A] Nitrous oxide 0 gas is also known as laughing g

€] Nitragen hydroxide Eg] :itrogen dioxide
itrogen peroxide
ﬂﬁmmﬁﬁmm%mﬂmmm%

Q) 9TREH Siaurgs ) Ao SglaES
(W) T TS Esﬁ]ﬂsz‘mgngs

42. thela Phagun’, the spring festival, is celebrated in which country?
[A] India [B] Bangladesh

[C] Nepal ) [D] Myanmar

Tl BT I ARR, frw & weman oiren 87

(Y] HRd (dl) SR

GBI (3 "R

43. Which Indian state hosts the famous 'Khajuraho Dance Festival’
(A) Orissa (B) West Bengal
(C) Madhya Pradesh (D) Chattisgargh

DI W YR 359 URIE EORTE) T Weieda &1 Ao Har 32

(@) sifs=m (& oftm s

(g " yew 3 ST

44. ‘Hola Mohalla’ is a festival celebrated in which Indian state/UT?

[A] Rajasthan [B] Punjab

[C] Goa [D] Odisha

"SIl HigedT fhu HRd s/ IRd WeRT § T 9 arel AIBR 82
(0] ISR CIRCEIE]

() e 3

45. ‘Putola Nach’, which was making news recently, is the traditional string puppetry art
of which state?

[A] Assam [B] Arunachal Pradesh

[C] Uttarakhand [D] Odisha ; _

gAYl 7, S BT &1 & = | e, fhw Tou 1 urufves R Seydd s g7
Q) oFH (d) SRUTEd U

¥ IWEs (3t effe=m

46. “Kashi Utsav” is a 3 day programme, organized by which Ministry?
[A] Ministry of Earth Science [B] Ministry of Tribal Affairs

[C] Ministry of Culture [D] Ministry of Tourism

vHTR Seua" by HaATerd g A U 3 feada wdn g

() gl fage Hare™ (@) SHEdE AW & A
i Swpfa daam g gdeq HAR™

47. ‘World Sangeet Tansen festival’ is being held in which state?

[A] Maharashtra [B] Madhya Pradesh
[C] Sikkim [D] Arunachal Pradesh
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'ﬁ”‘“ﬂﬁmﬁmﬁmmﬂdﬂmﬁaﬁmmm%

[5# I‘BRTE (&) 7 yew

(¥ Rifepy () srpuTaa wem

48. Jallikatty' ig @ Bull-taming event, celebrated in which state?
Karnataka [B] Tamil Nadu
Andhra Pradesh [D] Odisha

- 3P WIS B Drq A D¢ aren vz 3, o Ry 21 2 T ST B2
t
(W) sty 3wy [[B‘%J e

49. ‘Statue of Equality’ at Hyderabad features which Bhakti Saint?

A] Ramanujacharya [B] Vallabhacharya

C] Cha:tapya Magaprabh [D] Madhvacharya
ﬂ'éqemswmﬁﬁmu%ﬁaaﬁﬁ@mw%?

(V) ISRt (dh IervrERf

(¥ A ey (S Aearar

50. A plant that grows in waters of high salinity is called_?
[A] Halophytes [B] Oxylophytes

[C] Psammophytes _ [D] Chasmophytes
mmaﬁaﬁﬁmmmﬁwm ?

(T BewIgey & sifRideEey
(€ drieEey (¥ IEEey

51. A and B invest in a business in the ratio 3 - 2. If 5% of the total profit goes to charity and A's
share is Rs. 855, the tota] profit is :

A) 500 B) 1000

C) 1500 D) 2000

A 3R B % 99 ¥ 3. P U A PR B B 9 e e T 5% S ASEg 3R A
DT eRI %1 855, Faamy 2 -

T) 500 ) 1000

) 1500 3 2000

52.In an election between two candidates, one got 55%
votes were invalid. If the total number of votes was 7500
other candidate got, was :

A) 2500 B) 2700

C) 2900 D) 3100

I SHICERT & ot U g U DI 1 aU Hell BT 55% UG §oHT, 20% Ad 33y 4| A
dIel B pa WeAm 7500 o dl g8 IRfiCaR &1 i Ay Hal &) g

¥) 2500 #h 2700

g 2900 8h 3100

53. Two numbers are respectively 20% and 50%

of the total valid votes, 20% of the
, the number of valid votes that the

more than a third number. The ratio of the two

numbers is:

A) 2:5 B) 3:5

C)4:5 D) 5:4 :

< AT U firdt S @ HHRE: 20% 3R 50% i 2| < GO BT SuTE &
T) 2:5 dh 3:5

M 4:s g s5:4



54. A i
p'w “:‘ given 10 three students whose chances of solving it are 1/2, 1/3 and 1/4

oy atis ﬂ;; :)/r;bobmty that the problem will be solved?
3:/4 D) 7/12
BT &) U wnen € ond)

Waiaan § s wra mmw%;mmmmmm: 172, 13 3 14 31

O w ® 1/,
®) /4

& 1712

55. Find the odd number out.
4, 4 10, 17, 26, 37, 50, 64
A) 50 B8) 37
€) 26 D) 64

fww wem s #fw

2¢ 5, 10, 17, 26, 37, 50, 64
T 50 & 39

&) 26 ) 64

56. A bag contains 50 P, 25 P and 10 P coins in the ratio 5: 9: 4, amounting to Rs. 206. Find the
number of coins of each type respectively.

A) 360, 160, 200 B) 160, 360, 200
C) 200, 360,160 D) 200,160,300

TS A 50 1t 25 3R 10 G & Ry 5 o- 4% U # 8, et af0 51 206 How:
TP TR F Ridst ) wem 3 S

¥) 360, 160, 200 &) 160, 360, 200
) 200, 360,160 ) 200,160,300

57. A grocer has a sale of Rs 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive

months. How much sale must he have in the sixth month so that he gets an average sale of
Rs.6500 ?

A) 4991 B) 5467

C) 5987 D) 6453

TS GARI D1 {91 6435 F. 6927, F. 6855, F. 7230 AR T | TR 5 TEHT & T 65621 S
el H 39 U frat faes! 2 =iy arfs IR 6500 00 35t aira faas firde

T) 4991 &) 5467

;) 5987 3l) 6453

58. Find the odd number out.
41,43,47,53,61,71,73, 81

A) 41 B) 61

)71 D) 81

fqwm e 3ma Fifsm)

243 41,53, 61, Tk T3 8L
T) 41 d) 61

@ 71 3l 81

Pa



s
ge error in the

P ercenta
59. A student multiplied a number by 3/5 instead of 5/3, What Is the P

calculation?

A) 54 % B) 64 %

C) 74 % D) 84 % yfaara g
Wmﬁwmﬁs/ﬁ?wwwﬂ’ﬁﬂm’mﬂ *

Q) 548 d) 64

@) 743 3 84t

60. If20% of a = b, then b% of 20 is the same as:
fe a = b BT 20%, A 20 BT b% T &:

A)4% of a B) 6% of a
C) 8% of a D) 10% of a
40 days respectively. They began

61. A, B and C can do a piece of work in 24 days, 30 days and P
the work together but C left 4 days before the completion of the work. In how many days was the
work completed?

é)) 1131 gays B) 12 days

ays D) 14 da : :
A, B &%?cwwrdﬁ%fm24m,3oﬁaam4omﬁwmm%l;ﬁ?ﬁwmu
mwmaﬁﬂ@ﬂmwsﬁm%ﬂsﬁ%éﬂ%lmﬁmﬁ%ﬁwg&m
Y 11 f& dh 12 f&a

i 13 faq S 14 f&A , o
62. A father said his son , " I was as old as you are at present at the time of your birth. " If the

father age is 38 now, the son age 5 years back was :
B) 19

A) 14
C)33 D) 38 ‘
TS a3 303 §2 § g1, B greR o & T S 81 §@T o1 I gH I A g1 Afe
fOreT 1 a7 oft 38 af 2, Y g3 Y g 5 A TR o

T) 14 dh 19
dh 33 3 38
63. Insert the missing number.
2,6,12,20,30,42,56,(....)

A)61 B) 64
C) 72 D) 70
AYdl FeR ST |

LU 100900 30425 56 lvas)
T) 61 @ 64
I 72 3h 70

64. The average of runs of a cricket player of 10 innings was 32. How many runs must he make
in his next innings so as to increase his average of runs by 4 ?

A)76 B) 79
C) 85 D) 87
10 GIREl & T fbdbe REarst & i &1 3d 32 4TI I 30T 3aTelt Uil & fha W AR
gIfeu dIfd ITF I T 3Nd 4 §¢ oM
T 76 dh 79
) 85 sh 87
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65. Salaries of Ravi
the new ratio becom
A) 38000B) 46800
C) 36700D) 50000

130 2. 578
mg.%ggmmg%mmﬂmmmwmm 4000, T AT 40:57

Q) 38000 46800
™ 36700 &) 50000

66. A trader mixes 2
kg and sells the mi

and Sumit are in the ratio 2:3. If the salary of each is incr ek
€58 40:57. What is Sumit's salary?

6 kg of rice at Rs. 20 per kg with 30 kg of rice of other variety at Rs. 36 per
Xture at Rs. 30 per kg. His profit percent is:

A) No profit, no loss B) 5%
C) 8% D) 10%

U TR 26 601 F1aet 1 . 20 S0 ufy fbelt 3= faras 3 30 el a1ae % a1 51 36
ufeY T SR fvaror 1 51 W AT 21 30 R . gt e e

gﬁ)ﬁm?ﬁ,@gmﬁ?ﬁﬁ # s

) 8% 3 10%

67. If the price of a book is first decreased by 25% and then increased by 20%, then the net
change in the price will be :

A)10 B)20

C)30 D)40

uﬁﬁwﬁmﬁqﬁzs%aﬁﬂaﬂm%aﬁ?ﬁﬂm%&ﬁq@aﬂaﬁﬁ%,a’r
T & Y IRad grm:

T) 10 d) 20

@ 30 3 40

68. Find the missing number in the following Series?
18,97, 26,91, 7, 83

A) 32 B) 36

C) 30 D) 34

Fafafea yea & g 9o 39 S

B8, 97 28 91, 2, 83

T) 32 dh 36

/M) 30 3 34

69. Insert the missing number.
2,4,12, 48, 240, (....)

A) 960 B) 1440

C) 1080 D) 1920
AT AR ST |

S 0 68 240, (...)

) 960 &) 1440
dh) 1080 3 1920
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70. 7,11, 19, 35, ?

Find the next number in the given number series?

A) 131 B) 94
C) 83 D) 67
Ty m LIS o A
& T den swen ¥ opreht <t A BT
Y 131 & o4
W 83 &) 67
Fill in the blanks
Foeret w1
. ‘aeli ills
71. Tourists always enjoyed the setting Sun in the Darjeeling Hi
A. watching B. seeing
C. in seeing D. to watch
¢ - dback
72. In the test, we will your work and then give you detailed fee
A. check B. measure
C. judge D. assess
73. A Computers is hard to repair as there may be hundreds of different
A. objects B. materials
C. parts D. components
74. He is very good ........ making stories.
A in B. about
C. at D. for
75. He told me that he ........ watching the movie.

A. had finished B. is finished
C. not finished D. was finished

Synonym JHMTY® Ued
76. Pandemonium
A. great joy B. big crowd
C. utter confusion D. loud noise
77. ABANDON
A. Forsake B. Keep with
C. Join D. Try
Antonym faostareff e
78. Rejuvenation
A killing B. perfect
C. enthusiastic D. magical
79. MILITARY
A. Militant B. Coup
C. Civil D. Civility

One word substitution T s YIARITGT

80. Something that can be carried easily
A. Relatable B. Portable
C. Cartable D. Potable
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81. One who a

(A) stoic ceepts pleasure and pain equally
(C) Thespi (B) Humanitarian
b (D) sadist

82. Handwritin
(A) lllegible (g)isllldoig‘;'l‘cc;" or impossible to rea

(C) Uninteliigible (D) Eligible

3: A person specially interested in the study of coins and medals.
(A) numismatist (B) numerist
(C) medallist (D) coinist

In the questions, a part of the sentence is given in Underline.
Below are given alternatives to the Underline part at (A), (B)
and (C) which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your answer is

(D) . WS A a9 $1 Up Wi Sfgang A fa mn &1 AR @), @ AR @ = ssvara
W & e Ry 10 & o area & guR a7 waa §1 T8 faded &1 99 B af 58 gur
P ILIHAT 18] § ) HTYDBT IR & (D) |

84.The interesting tale had its beginning more than fifty years ago.
(A) was started (B) initiated

(C) began (D) No improvement

85. We did not see this movie yet.

(A) have not seen to (B) never have seen
(C) never seen (D) No improvement
?6. Loose tea leaves are kept in a tea box.
{A) cosy (B) caddy

(C) tin (D) No improvement

87. Sincere workers do not rest till they have reached perfection in their work.
(A) they have achieved (B) they having reached
(C) they had achieved (D) No improvement

88. Unless they modify the system, our future generations will suffer.
(A) Unless the system will be modified

(B) If the system will not be modified

(C) Unless the system is modified

(D) No improvement

89. The boy said that he has read the book.
(A) he had read (B) he has finished to read
(C) he has already read (D) No improvement

90. You are a mechanic, aren't you?

(A) isn't (B) are

(C) wasn't (D) No improvement

91. | usually did not take sugar in my tea.
(A) have not taken (B) do not take

(C) do not takes (D) No improvement

92. The autumn season of Parliament will begin on Monday.

; (A) cession (B) mis_sion
(C) session (D) No improvement
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93. The camera | bought recently is not convenient.
(A) hard to use. (B) difficult to use.

(C) easy to use (D) No improvement @l 7 i dcd DT
Find the missing element in the series given below: A

94. ABD EFH |JL MNP QRT?
A. ZXA B. WXy

C. XYZ D. UVX

95. ACE ? MOQ .....SUW
A. EFH B. GIL
C. GIK D. GIM

el & walfa e 87
96. Which word does NOT belong with the others? @1 4T Uecs q

A. index B. glossary
C. chapter D. book

S "
97. Which word does NOT belong with the others? P A1 Weg GEA & T

A. trivial B. unimportant
C. important D. insignificant

i e by
98. Which word does NOT belong with the others? &1 IT Ueq §Hi| 3 Haifera 72T
A wing B. fin
C. beak D. rudder
Fill in the blanks Rad &I ¥

99. CUP: LIP :: BIRD : ?
- A. GRASS B. FOREST

C. BEAK D. BUSH
100. Paw : Cat :: Hoof : ?

A. Lamb B. Horse
C. Elephant D. Tiger

***END***




